File S2: Differential Equations for Model

The model depicted in Figure 6a describes the following set of reactions:
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These can be written as a system of differential equations, as given below:
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Rates of transcription are given by:
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To obtain steady state values, the left-hand sides of equations (S1) - (S19) were set to
zero. We initialized values of E = Eta, 00 = 0"%tal, 0% = 0%a, Rsd = Rsdiota, 6S RNA =
6SRNAtota|, DNA = DNAtota|, P70 = P?Ototal, P38 = P38total and all other variables = 0. The
differential equations were solved until the system reached steady state.



